Testing Cosmology
with 2-point correlation function

* Carlos Contreras
* Chris Blake, Karl Glazebrook



Testing Cosmology
with 2-point correlation function:

what about clustering history?
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Peebles (1980) “Large Structures of the

Universe”

Perturbations on Cosmological equations

Growth rate
Linder(2007)

f =d(n(D))/d(In(a))
f (z)=Omega_m(z)*x
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PreEvious REsULTs FOrR  AND [

Survey 3 i Reference

2dFGRS 0.49{09) 0.49(10) Hawkins 2003
SDSS 0.34{03) 0.64(09) Cabre & Gastanaga 2008
DEEP T 0.70{26) 0.91(36) Guzzo 2008
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But now comes )
~ 240,000 red-shifts

0.2 <z<1.3

Big volume of space

Data enough to do quality measurements of
correlation function and Beta, in higher z.
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* But peculiar velocities distorts the
correlation function.

Hawkins et al. (2002), astro—ph/0212375

* The distortion can be
modeled, and fitted
to the data, to get
Beta.




Hawkins et al. (2002), astro—ph/0212375
2dFGRS: g = 0.49 + 0.08
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* THE END



Current and future z < 1 galaxy redshift surveys

BOSS LRGs [? 2009-2014]

—_—
WFMOS z=1 [? 2016-2020]
SDS5—-DRE LRGs
—_—

—_
WiggleZ [2006—-2010]
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* Correlation Function for Galaxies typically a
power law:

* E(r) = (r/fro)*gamma
* usually ro ~4Mpc/h gamma ~ -1.7



Exponential Model
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